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Historical Hydraulic Test Data 
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Appendix C-1 

OWRC Pump Test in Goulais Wells (1968) 

 

 

 

 

 

 

 

 

 

 

 

 

























































Sault Ste. Marie Region Source Protection Area  
Tier 3 Water Budget and Risk Assessment 

Analysis 



Semi-Log Time-Drawdown Analysis, TW1/65
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Pumping Data Recovery Data

T = 2.3Q/(4πΔs)
S = 2.25Tt o /r 2

pumping rate reduced to 7921 m3/day

Δs (pumping at higher rate) = 3.2 m

T (pumping at higher rate) = 6.8E-3 m2/s



Semi-Log Time-Drawdown Analysis, TW1/66
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T = 2.3Q/(4πΔs)
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pumping rate reduced to 7921 m3/day



Semi-Log Time-Drawdown Analysis, Goulais PW1
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Pumping Data Recovery Data
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pumping rate reduced to 7921 m3/day

Δs (pumping at higher rate) = 3.9 m

T (pumping at higher rate) = 5.6E-3 m2/s



Semi-Log Time-Drawdown Analysis, Goulais PW2
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pumping rate reduced to 7921 m3/day
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T (pumping at higher rate) = 6.4E-3 m2/s



Semi-Log Distance-Drawdown Analysis, OWRC 1969 Goulais Wells Pumping Test
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